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EXNFE 630,040 682,356 A52,316
= 69,827 21,110 48,717
Al 1,700 2,850 A1,150
=l 558,513 658,3%6 A99,883
NS 3 574,033 626,560 N52,527
=2 69,827 21,110 48,717
Al 1,700 2,850 A1,150
=l 502,506 602,600 A100,094
EXNBHE 42 =X 85,053 85,147 AN
= 21,110 21,110 0
=l 63,943 64,037 AN
SEASIHAA 22 9,536 9,630 AN
405 XHaHE S| 1,936 2,030 AN
01 AL SEFSH| 1,936 2,030 AH
O SASIHY SAL AYH IIEZ2IH
- 33 1,936,000& 1,936 2,030 AH
CREUTA ALY 174,133 175,283 A1,150
Al 1,700 2,850 A1,150
=l 172,433 172,433 0
ZANY AL 22l 114,801 115,801 A1,000
Al 1,000 2,000 A1,000
=l 113,801 113,801 0
401 Al HI L] 57,038 58,033 A1,000
Al 1,000 2,000 A1,000
el 56,038 56,038 0
01 Al&ZHI 57,038 58,038 A1,000
OFANBAILE AX 43,660 44,660 A1,000
CRYT 43 2 100,000 *200H 2,000 3,000 A1,000
AlHI 1,000 2,000 A1,000
=l 1,000 1,000 0
ZANY B8 3,955 4,105 A150
Al 700 850 A150
=l 3,255 3,255 0
201 LBt2H Y| 3,550 3,700 A150
Al 700 850 A150
=l 2,850 2,850 0
01 AF22t2(H] 3,550 3,700 A150
OCR2Y=A 222 NI
A 5,0002*31004 1,550 1,700 A150
AlHI 700 850 A150
=l 850 850 0
KIZTHZEARAFS 264,126 315,409 A51,283
= 48,717 0 48,717
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BT 215,409 315,400 100,000
KETHZAL LBt 215,409 315,409 100,000
301 Et2E = 200,000 300,000 100,000
14 J|EtE2aS 200,000 300,000 A 100,000
OLBAT T NETUEAAEY ZH3
A 200,000,0002! 200,000 300,000 A100,000
KIETHZ AL 48,717 0 48,717
= 48,717 0 48,717
201 L= 3,751 0 3,751
= 3,751 0 3,751
01 AFS2t2ltl 3,751 0 3,751
ONHMEASZAH2OIFZS)
2,112,002 2,112 0 2,112
= 2,112 0 2,112
OXIETHZEAL 23| 1,639,000& 1,639 0 1,639
= 1,639 0 1,639
202 04l 680 0 680
= 680 0 680
01 =LHO LI 680 0 680
OXIETEA BEZEAF 048]
680,000 680 0 680
2 680 0 680
308 REXIHMSOIH 44,286 0 44,286
= 44,286 0 44,286
13 SI 2SOt A HAS ALZ | 44,286 0 44,286
ONEMEMSY L2 (TS )
44,286, 00021 44,28 0 44,286
= 44,286 0 44,286
Megs(EXNEZ) 2,902 2,691 21
BEXE 2,902 2,691 211
EXNEEN SAHEXEZ Btet= 21 0 21
802 Bt IS 21 0 21
01 2 NEXSEHES 206 0 206
OMEZAIXII} 45 166,0002 156 0 186
OXI =T A 50,000& 50 0 50
02 Al - EHIEX=SEtet= 5 0 5
Okzd=4 82 1,000& 1 0 1
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4,0002 4 0 4




